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Semester Final Review Part 2.

‘-:ﬁ 1) Draw the number classtfication map.
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3) Ifanumber is irrational, what other sets

2) If a number is an integer, what other sets
does it also belong to?

does it also belong to?
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List all the sets to which the number belongs.
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Identify the real and imaginary part of cach complex number.
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Simplify.
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Simplify. Use absolute value signs when necessary.
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Simplify.
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Determine if the result of each situation will be rational or irrational. Give examples to support

YOour answer,

1 .
Z o = 1) Sum of a ratonal and an irational number

Trohonal

33) Product of two irrational numbers

Rakons\ oc raional

35) Sum of two irrational numbers

Rotona\ or ortonal

Simplify each expression.

Vo L 37) (x-5¢) - (2 + x* + 5x)
=763 - x2-Hx
Find each product.
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41) (4x + 2)(6x + 8)
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32) Sum of two rational numbers

34) Product of two rational numbers

Rational

36) Product of a rational and an irrational
number

T rretional

38) (=7x® - 4x?) + (x® + 6x2 + 3x%)
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40) (x +5)(6x +5)

bx* +35¢ +2.5

42) (2r - 1)(67* + 6r + 3)

2c® + bc*-3%
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'v\ Write cach expression in exponential form.
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@ Write each expression in radical form.
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Simplify. Your answer should contain only positive exponents.
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